












Statements : 1 > 2 > 3,  5 < 4 < 3 

Conclusions: I. 1 > 5

II. 4 < 2

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.

Question -4



Q  Which number will replace the question mark ?

(A) 1084 (B) 484

(C) 49 (D) 36

? 25 16

529 169 81

676 144 49



Q Which number will replace the question mark ?

(A) 13 (B) 6

(C) 17 (D) 22

? 13 15

9 28 4

13 12 16



Q Which number will replace the question mark ?

(A) 48 (B) 7

(C) 28 (D) 36

55 22 28

33 44 28

66 33 ?



Q Which number will replace the question mark ?

(A) 104 (B) 105

(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Q Which number will replace the question mark ?

(A) 4 (B) 3

(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Q Which number will replace the question mark ?

(A) 3 (B) 7

(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



Q Which of the following diagrams indicate the best relation

between Country, City and State देश, शहर और राज्य ?

C.

B.

D.

A.



Q Which of the following diagrams indicate the best relation
between Hockey, Football and Cricket हॉकी, फुटबॉल और क्रिकेट ?

A
.

C.

B.

D.



Q Which of the following diagrams indicate best relation between
Author, Lawyer and Singer लेखक, वकील और गायक?

C.
D.

B.A.



Q Which of the following diagrams indicate the best relation between 

Teacher, Parents and Guardians क्रशक्षक, माता-क्रिता और अक्रििावक ों?

A
.

C.
D.

B.



Q Which of the following diagrams indicates the best relation between

Paper, Stationery and Ink िेिर, से्टशनरी और इोंक ?

A.

C.
D.

B.



Q Which of the following diagrams indicates the best relation between

Profit, Dividend and Bonus लाि, लािाोंश और ब नस ?

A
.

C.
D.

B.



Q.11.

Statements :  

No note is a coin. 

Some coins are metals. 

All plastics are notes.

Conclusions: 

I. No coin is plastic.

II. All plastics being metals is 

a possibility.

III. No metal is plastic.

IV. All notes are plastics.

प्र.11.
कथन :  
क ई न ट क्रसक्का नही ों है।

कुछ क्रसके्क धातु हैं।

सिी प्लास्टस्टक न ट्स हैं।

क्रनष्कर्ष : 
I. क ई क्रसक्का प्लास्टस्टक नही ों है।

II. सिी प्लास्टस्टक के धातु ह ना एक

सोंिावना है।

III. क ई धातु प्लास्टस्टक नही ों है।

IV. सिी न ट प्लास्टस्टक हैं।



Q.13. 

Statements: 

No stone is a metal.     

Some metals are papers.    

All papers are glass.

Conclusions : 

I. All stones being glass 

is a possibility.

II. No stone is a paper.

III. No glass is a metal.

IV. At least some glass is metal.

प्र.13. 
कथन: 
क ई ित्थर धातु नही ों है।

कुछ धातु कागज हैं।

सिी कागज ग्लास हैं।

क्रनष्कर्ष : 
I. सिी ित्थर ोंका ग्लास ह ना

एक सोंिावना है।

II. क ई ित्थर कागज नही ों है।

III. क ई ग्लास धातु नही ों है।

IV. कम से कम कुछ ग्लास धातु

है।



Q.14.

Statements :

Some stars are moons.

All moons are planets.

No planet is universe.

Conclusions :

I. All moons being stars 

is a possibility. 

II. No universe is star.

III. At least some planets are stars.

IV. No moon is universe.

प्र.14.
कथन :
कुछ क्रसतारे चोंद्रमा हैं।

सिी चोंद्रमा ग्रह हैं।

क ई ग्रह ब्रह्ाोंड नही ों है।

क्रनष्कर्ष :
I. सिी चोंद्रमा के क्रसतारे ह ना

एक सोंिावना है।

II. क ई ब्रह्ाोंड क्रसतारा नही ों है।

III. कम से कम कुछ ग्रह क्रसतारे

हैं।

IV. क ई चोंद्रमा ब्रह्ाोंड नही ों है।



Q.15.

Statements :

All apartments are huts.

No hut is a building.

All buildings are cottages.

Conclusions :

I. No cottage is an apartment.

II. Some cottages are apartments.

III. No cottage is hut.

IV. Some cottages being apartments

is a possibility.

प्र.15.
कथन :
सिी अिाटषमेंट झ िक्ऱियाों हैं।

क ई झ ि़िी इमारत नही ों है।

सिी इमारत ोंकॉटेज हैं।

क्रनष्कर्ष :
I. क ई कॉटेज अिाटषमेंट नही ों है।

II. कुछ कॉटेज अिाटषमेंट हैं।

III. क ई कॉटेज झ ि़िी नही ों है।

IV. कुछ कॉटेज का अिाटषमेंट ह ने

की सोंिावना है।


